5. What is the area of
a shape that is 12m x
12m?

8.280cm = m

9. Order the decimals
in ascending order
0.8,0.5,0.3,0.7

10. Fill in the missing
operation
9__9:=81

5. What is the area of
a shape that is 14m x
5m?

8.5.5m = cm

9. Order the decimals
in descending order
1.8,1.81,1.18,1.08

10. Fill in the missing
operation
82 __41:=41

5. What is the area of
a shape that is 22m x
6m?

8. 95cm = m

9. Order the decimals
in ascending order
3.2,3.02,3.12,3.21

10. Fill in the missing
operation
80___6=480

] ] ] ] ] ] ]
12

RO Mental Maths
Monday Tuesday Thursday
1.40x 5= 1.70x 8 = 1.60x 4= 1.90x 9=
2.420:7 = 2.810+: 9= 2.490 + 7 = 2.960 + 12 =
3.162 + 282 = 3.155 + 365 = 3.760 + 143 = 3.146 + 295 =
4,156 - 95 = 4.363-112= 4.185- 62 = 4,97 - 44 =

5. What is the area of
a shape that is 15m x
8m?

8.3.2m = cm

9. Order the decimals
in descending order
2.1,2.21,201,2.19

10. Fill in the missing
operation
9 __8=12
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5. What is the area of
a shape that is 12m x
12m? 144m?

1_2

5 5

7.5%2= 25
8.280cm = 2.8m

9. Order the decimals
in ascending order
0.8,0.5,0.3,0.7
0.3,05,0.7,0.8,0.9

10. Fill in the missing
operation
9x9:=281

5. What is the area of
a shape that is 14m x
5m? 200m?

1

3
6.2-2=1

7
7.8%= 64
8.5.5m = 550cm

9. Order the decimals
in descending order
1.8,1.81,1.18,1.08
1.81,1.8,1.18,1.08

10. Fill in the missing
operation
82-41:=41

5. What is the area of
a shape that is 22m x
6m? 132m?

8.95cm = 0.95m

9. Order the decimals
in ascending order
3.2,3.02,3.12,3.21
3.02,3.12,3.2,3.21

10. Fill in the missing
operation
80 x 6 = 480

] ] ] ] ] ] ]
R Mental Maths o
Monday Tuesday Thursday
1.40 x 5 = 200 1.70 x 8 = 560 1.60 x 4 = 240 1.90 x 9 = 810
2.420+ 7 = 60 2.810+ 9 =90 2.490 + 7= 70 2.960 + 12 = 80
3.162 + 282 = 444 3.155 + 365 = 520 3.760 + 143 =903 3.146 + 295 = 441
4.156 - 95 = 61 4.363 - 112 = 251 4.185- 62 = 123 4.97 - 44 = 53

5. What is the area of
a shape that is 15m x
8m? 400m?

2 _1

5 5
7.9%= 81
8. 3.2m = 320cm

9. Order the decimals
in descending order
21,221,201, 2.19
2.21,2.19,21,201

10. Fill in the missing
operation
96 - 8=12
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